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e — 1. WS BHIG 1 RIS YT B THH WS W T WU T 7 TUT WUS
(@31) % 5 U 2 TUT WS (@) H 5 W 2 | UIP WA W 1 3P IJmEfea 2|
Instruction:- Question No. 1 1s an objective type question It has part (A) and part (B). Part (A)

carries 5 Questions and Part (B) carries 5 question one mark in allotted to each
question.

2. Yo G 2 ¥ 7 T% AR YA 2| UAF U W 2 IAF
Efed 21 IR BT ARIHaH HFT 30 TR 2|

Question No. 2 to 7 are very short answer type question carries 2 marks. Maximum

limit of answer 1s 30 words.

3. U HHIG 8 W 11 0 IRTgewid Jed 8| % 99 W 3 IS
Efed 21 IR BT ARYHaH HFT 50 TR T |

Question No. 8 to 11 are very short answer type question carries 3 marks. Maximum

limit of answer 1s 50 words.

4. UE HHIB 12 W 17 TP AYSRI U 2 | UhH UL H RS fdwmeu
2| UA® U W 4 3(F AT 7| SR BT IMABaH HW 100 TR 7 |

Question No. 12 to 17 are short answer type question. Each question has an internal

choice. Each question carries 4 marks. Maximum limit of answer is 100 words.

5. U3 HHIG 18 T 23 OP SHITNIT UIF § | UUP YA # aaRs fawed
2| Udd U W 5 3P HEed o | Ia¥ BT A0Hay FH1 150 e & |

Question No. 18 to 23 are Long answer type question. Each question has on internal

choice. Each question carries 5 marks. Maximum limit of answer is 150 words.

6. U HYIH 24 ¥ 25 db <ESNG U 2| UAP U H s fAwey
2| Udd U W 6 3P AEed o | Ia¥ BT A0ehay IH1 200 e 7 |

Question No. 24 to 25 are Long answer type question. Each question has on internal

choice. Each question carries 6 marks. Maximum limit of answer is 200 words.
ge BB 1 — WS (1) W fadey e forfam —
(Part —A) Choose the correct option and write the answer.
(i) TRUTIR & —
(31) sfiwefg dfen (@) SMETID B
(F) srars-i e () SIRIET 4T



(Weed 1s -

(a) Medicinal crop (b) Important crop

(¢) Unwanted plant (d) All of the above

(if) geR e 1 7 yeTer o fIar S g -

(@) e i (@) 3R ot

(&) gATforg & (@) gfFergd &

(ii) Golden yellow certificate is given -

(a) Breeder sced (b) Foundation sced

() Certified seed (d) Nucleus seed

(iii) @m0 o Ao (IPM) FT Iof ®T & —

(&1) 3f&TA URe AioTHe (@) sz ue Ao
() gcHITs URe HvTHe (T) SRS URTR ois Hioc

(iii) Full form of IPM

(a) Indian Post Management (b) Indian Pest Management
(c) Integrated Pest Management (d) Integrated pasture Land Management
(v) derf # SS8< (Dead Heart) T&T0 B9 & B & YHIT b BRI o=l & —
(an) =T T (@) a1 Bed
(%) Bl BB (3) fees
(1v) Which Inseet causes the effect of “Dead Heart” Symptoms in plants -
(a) Sting Bug (b) Stem Borer
(c¢) Fruit Borer (d) Grass Hopper
() R=TE ST & T IRP T Bl & —
(@) sdfem (@) AT AT
(%) ErTeE () BRI
(v) Fertilization with irrigation water is called -
(a) Habitation (b) Multi Irrigation
(c) Irrigation (d) Fertigation

s (9) — Raa @Al &7 g Hfg —
(Part — B) Fill in the Blanks:

(i) pvc dfeft faAse . =
(1) PVCis poly venyle ..............
(i) RET FHRT H g g



(111) Milk protein 1s called ...........................

(v) a9 BT FE @ THT THH Y @1 ufererd g1 =t |

(1v) At the time of paddy harvesting .............. the Percentage of moisture content.
will be.

(v) Dfczrad &7 AT A ggail § ..o AT BT 2
(v) Calcium deficiency in animals caused ............ discases.
U HIB 2 — A DI URAINT B | 2
Define crop.
U%T HHIG 3 — I AT 8P 2
What is seed.
TS AP 4 — IME0 U0 THO T giRwm farRerd? 2
Write definition of IPM.
U3 HHIB 5 — %ol ol 87 2
What is Breed.
U% HHIG 6 — HHMD I fHH HEd o7 2
What is Infections Disesse.
Ue HHIG 7 — TS YOIl T 87 2
What 1s Root System.
Ue HHIG 8 — Buel (IfIRBRoT FT 87 3
What 1s crop Diversification.

U3 HHIB 9 — YhIe Wud & Piel o o9 FafEa o smar 87 wwsed | 2+1=3

How to control insects with the help of light traps? Describe it.

U HHIG 10 — TT (Gdpe) AT BT Had Toel] B FHRISN? 3
Explain free range system of poultry house.
U3 BB 11— BY Wie {6 ®Ed 87 3

What 1s green Mannure.
U39 HHIB 12 — Tolgd Ud 3 dlell Bdell @ d/d dis aR R foIfRed? 1xa=4
White any four Difference between pulses and cereals erop.
AT

U 91 Ud ggauiid TRUGIR @ €1 Py IR Aa fofferd?
Write any four differences between annual and parellial weed.

U HHIP 13 — dl SUIR B Dig IN o TASET? ix4=4

Explain any four Advantage of sced treatment.

AT



T STIR & fHel IR doa! & a8 § Tad=d?

Describe any four the different methods of seed treatment.
U AR 14 — BES h FTT 27 THSEY | 4

What 1s crop rotation? explain it.

HAdT

®Hd Ish o Ngid fofen? @g =R)
Write the Principles of crop rotation.

93 HHIG 15 — <Ud Ndg AR Blan s # o ieu? (@8 aR)  1xa=4
Difference between drip irrigation and sprinkler irrigation. (any four)

3feran
A g & fedRyds qAsmsa?

Explain micro Irrigation.

U HHIE 16 — U H B dTel TRUST—HEUDBI T & AeAvT fARed? (Hblg a1a)

Vax8=4
Write the symptoms of foot and mouth disease of Animals. (any Fight)
AL4T

TR gl & oo fofed? (@lg o)
Write the symptoms of sick Animals. (any Eight)

Ued G 17— AT @ 87 wHesd? 4
What is Biasi? Describe it.

AL4T

TRUTIR T 27 TRUGIR | Bl W BIH dlel Y91d B e |
What is weed? Write the effect of weed on crops.

U AP 18 — fedbre @l T 77 fawga avia Bifee? 2+3=5
What is sustainable agriculture? Briefly describe.

HAdT
U B B D1 [~ g el & 9/ ud D1 9uiH
HIfT?
Describe different growth stages of rice crop.
Ue SHHID 19— IS I D e TR 1X5=5
Name and describe the various stages of the paddy crop?

arera
IS 3fgRur FT aney RNl &1 avie FIY? (@18 i)




Write the [deal conditions for seed germination.
Ue SHHIE 20 — IPM BT aRwT fofaw o 1pM & frgral 1 fafed? 5
Write the principles of IPM by writing the definition of TPM.
AT
PleATeS H i alel gHHE @ aR H fafeay?
Write the side effects caused by the pesticide.

U AT 21 — U] UgHH @ R faRal @ e ¥ fovwar | fafed | 34e=s5

Write in detail about various methods of animal identification.

eI
TfigTed &7 fOoRT yorell @ an # fawarygds quie Sir?
Describe in detail the cage system of poultry.
U ShHID 22 — UY] 3MdTd T8 H 3 grefl faff=1 w9 & ar # fawgd gviH
FIA? (dblg Ur=) 5
Describe in detail the various problems encountered at the animal house.

AT
uggett # B dret fegY e Il B i JE1EN Higd BIeTe?
Describe any five disecase with example occurring in animals.
g hHlh 23 — fewfrf forferd — 1X5=5
1. WER g 2 AWepar 3 fead 4 HRIEw 5. FAT

Write comments —

1. Fibrous Root 2. Radical 3. Tillers 4. Caryopsis 5. Lemma
eI
oF BT Uy AR o1 9vE HRTE?
Describe the transplanting method of paddy.
Ue hHID 24 — JUIINT & MMER W YL LA BT FIDH0 HITL? (Bblg ©:)

1X6=06

Classify live stock breeds based on utility. (any Six)
eI
RO 3ffeawi # giued & Agd &l forfEy?
Write the importance of poultry farming in the India economy.
U $HIB 25 — <ud Hars fafr &1 afes ava sifea? 4+2=6
Describe drip irrigation system with the suitable diagramme.

a1
PRWA B WA IR 7 gy S99 999 @ SuTy gdigd?

Write about the hazards of the workplace and suggest way to avoid it.




